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Taking the hermitian conjugate of this result, we also have

< ψ̃(r)
p , ψ

(s)
p′ >= 0,

and we can also derive (in the same way as for < ψ
(r)
p , ψ

(s)
p′ >)
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Taking the scalar product of ψ̃
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we find
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and therefore
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So
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′)} =

∫

d3xd3x′ψ̃
(s)†
p′β (x′)ψ̃(r)

pα (x){ψβ(x′), ψ†
α(x)}

=

∫

d3xd3x′ψ̃
(s)†
p′β (x′)ψ̃(r)

pα (x)δαβδ(x − x′)

=

∫

d3xψ̃
(s)†
p′α (x)ψ̃(r)

pα (x)

= < ψ̃
(s)
p′ , ψ̃

(r)
p >

=δrs2p
0(2π)3δ(p− p′).

(b) I’ll give here the correct derivation, which requires a slight (but crucial) modification
in the definition of P µ.
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Proof that ur(p)γµus(p) = 2pµδrs.
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